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CBT Practice test model answers

Budgeting (BGT)

Practice assessment 3


Section 1
Task 1.1
[image: image2.png](a) Match each type of data in the first column with the appropriate source in the second column.

Click on a box in the left column then on one in the right column.
You can remove aline by clicking onit.

Statistics published by
Government

Human resources manager
Expected wage awards

Tax rates
Market research

Potential raw material
suppliers

Internet browser

National taxation authority
(eg Her Majesty’s Revenue
and Customs)





Task 1.1, continued


[image: image3.png]{b) Who is the appropriate person to contact in each of the following situations?

Click a box in the left column then one in the right column.
You can remove aline by clicking on it.

There is an adverse labour

efficiency variance Head of Budget Committee

Marketing manager

You are looking into possible
wage demands from Human resources manager
production workers

Production manager

You are investigating the

sales demand for next year Purchasing manager





Task 1.1, continued

[image: image4.png](c) Drag each item of cost below to its appropriate budget.

Caital expenditure

‘Sales and Distribution

[Factory extension [ Depreciation of deiivery van
[New car for sales representative: [ Advertising costs for new product
Human Resources Costof Production

w

Finance & administration







Task 1.1, continued

[image: image5.png](d) Select an appropriate accounting treatment for each of the following costs.

Cost

Production abour - productve time
Printing and stationery coss

Computing senices for factory machinery
Hire of specialised machine for production
Production labour - sick pay

Cleaning materials for factory machinery
Purchasing department

Heating and lighting costs for sales showrooms

Accounting treatment

et

[ocete o saminstame ovemeats

[Eraree o producion 2 machine hour ovemeadrae

et

[Erarge o producion 2 abourhour vemead ate

[Eraree o producion 2 machine hour ovemeadrae

[Actiity based charge to products

[ote o sas ana martetng vt





Task 1.2

[image: image6.png](a) Complete the following production forecast for product X.

|opening inventory

lProducion 15600
lsub-tota 18800
lsales 16,000
[ctosing inventory 2600

Closing inventory should be 20% of forecast sales volume for the following week.

‘The quarterly production requirements for product L are shown below.

25% of production fails the quality checks and must be scrapped.

(b) How many items of product L must be manufactured each month to allow for waste?

[Required units

[Manufactured units





Task 1.2, continued

[image: image7.png](c) How much material must be purchased?

300,000

300,200

301,200

301422

384,118





[image: image8.png](d) How many overtime hours must be worked to complete the production?

1573

3240

1780

4,000





Task 1.2, continued

[image: image9.png]{e) Calculate the machine hours needed to manufacture these in December.

urs
unit  requ

B 450) 20 900
lc 550) 12| 660
[Total

2310

There are § machines in the department.
‘Addiional machines can be hired if required.

Each machine can be used for 350 hours in December.
How many addiional machines should be hired?





Task 1.3
[image: image10.png](a) Complete these three working schedules.

Materials.
‘Each unit produced requires 3.6kg of material.
Closing inventory will be valued at the budgeted
purchase price.

Labour
Ittakes & minutes to make each item.

28 staff work 160 basic hours each.

Overtime is paid at 25% above the basic hourly rate.

Overhead
Variable overhead s recovered on total labour hours.

Kg





Task 1.3, continued

[image: image11.png]{b) Now complete the operating budget.

Enter income, costs and inventories as positive
figures.

Closing finished goods inventory wil be valued at
the budgeted production cost per unit.

Use anegative figure to indicate a gross loss, for
example -500 or (500).

Use anegative figure to indicate an operating
loss, for example 500 or (500).

rating budget £ perunit
[sales revenue 64000 B 1408000
[Costof goods sala: B
[opening inventor ofinished goods 7,000
[Costofprocuction B

[Waterials 936460

|Cabour 92620

[overnead 52520 1081900
[Glosing iventory of finished gaods 104700
[Cost of goods sold 934200
[Gross proft 423800)
loverneads B

[Aaministraion 12,000

[Warketing 40.000)

[operating proft

371800)





Task 1.4

[image: image12.png](a) This year sales revenue is £900,000. Analysis of recent years shows a growth trend of 6% per year.

‘The seasonal variation has been:
quarter 1 -£10,000

quarter2 -£4,000
quarter 3 +£6,000
quarter 4 +£8,000

Forecast the sales revenue for each quarter of next year.

? 234500
Pk 244500
I 246500
[Vear 954000






Task 1.4, continued

[image: image13.png](b) Calculate sales revenue and cost budgets for May from the following data.

|units sold 286000 25,000

|units produced 288,000

=

Each unitis made from 1.25 kg of material costing £0.80 per kg

Ittakes & minutes to make each item.

1,800 hours of basic time is available in the month. Any extra hours must be worked in overtime
“The basic rate is £10 per hour. Overtime is paid at 50% above basic rate.

Variable overhead relates to labour hours, including overtime.

Fixed overhead costs are incurred evenly through the year.

in

|sales revenue 858,000 75000
[Material used 288,000|[__25200
[pirect labour 252,000|[__22500
|Variable production overhead 36,000|[_3150
[Fixed overhead 132001100






Task 1.4, continued
[image: image14.png](c) Prepare a Cash forecast for June from the following budget data.

Invoiced sales revenue 20500| 15,000 17,500] 21,000]
lPurchases 5800 4550| 4200 4550
[Wages 5200 5350| 6200 6200
loter overheads 3500 2150|3180 3500
[Capial expeniture 1500 of so0| 1000

Average terms

Customers take 3 months to pay.

Purchases are paidfor after 1 month

Wages are paidin the current month

Other overheads are paid for after 2 months.

Capital expenditure s paid for in the current month




[image: image15.png]|opening cash balance 1.200|
|customer receipts 20500
[Payments

[Purchases 4200
[Wages 6200
|overheads 2150
|Capital expenditure 1000
[Total 13550
|closing cash balance 3150

Notes

Anegaive figure = an overdraft

Enter payments as positive figures.

Anegaive figure = an overdraft





Task 1.5
To:
Budget Committee
From:
Budget Accountant
Date:
xx/xx/xxxx
Draft Production Budget
Budget submission
I attach the proposed production budget for next year for your consideration and approval. This is based on the approved sales volume budget and forecasts provided by the production manager.

Sales are forecast to increase to 886,000 units. The production manager has forecast a 2,000 unit increase in finished inventory to give a requirement to produce 888,000 saleable items. He proposes to reduce wastage levels by slowing the production. Although this will increase the labour hours it should produce savings in material costs.

Please let me know if you need any further information.
Links to forecasts
As explained, this budget is built up from four forecasts: sales volume, closing inventory, production efficiency and wastage. Clearly the sales forecast is critical to all aspects of our budget and will be monitored closely. This will also influence the level of inventory we need to carry.

The forecasts of production efficiency and wastage are also linked. We need to put performance measures in place to check whether the expected benefits are achieved and are cost effective.

Budget Accountant

Task 2.1

[image: image16.png](a) Complete the following analysis.

There is labour available to make [43200

units in normal time.

Therefore, [3300 hours of overt

ime will be needed.

The raw material contract will provide enough material to make [37500

units.

Therefore, [25000 kg will have to be purchased on the open market.

Quality control can test [43000

units inthe year.

Itwill be necessaryto make altemative arangements for [2000

units.

Nextyear sales revenue is forecast at £7,700,000. This assumes a 10% increase in selling price. Inthe light of
increasing competition the marketing manager has decided to restrict the increase to 5%.

(b) Calculate the revised sales revenue forecast. £ [7350000

Nextyear energy costs are forecast at £354,000. This assumes a 4% increase in energy consumption and a
6% ncrease in gas and electricity tarifs

However, energy saving measures are being proposed. Instead of increasing, consumption should b

reduced by 8%.

(c) Calculate the revised energy budget.

£ [322000






Task 2.2
[image: image17.png]Operating report for July

[sales revenue (26,000 units) | 3120000 | 2920000| 130000
[costs

laterial 1086000 | 1095000 29000
ILabour 624000 | 628900 900
IDistibuton 1000 | 92400 1400
[Eneray q13s00 | 14250 750
[Equipmenthire 45000 | 35000 10000
IDepreciaton 104000 | 110,000 5000
IMarketing 285000 | 281600 3400
laaministration 203000 | 298400 5400
[rota 2621500 | 2655550 34050
|operating prof 408500 | 334450 16400

Enter adverse variances as
negative
For example: 500

Enter a loss as negative.
For example: 500





Task 2.3
To 
Chief Executive



Date

(Today)

From
Budget Accountant


Subject

Review of Operating Statement
(a) Reasons for variances

I have reviewed the results for the period. There was an operating profit of £240,000 compared with the flexed budget profit of £278,000. 

Problems with the production machinery caused significant adverse cost variances.

Material costs were 7% above budget (£12k), even though an expected 7.5% price increase had not occurred. This indicates a material usage variance of around 15%. This appears to be due to machinery breakdowns which spoiled work in progress.

Similarly, labour costs were 13% above budget (£31k). This will also have been due to the disrupted production and the need to replace scrapped work in progress. The additional work might have required overtime working at premium rate.

Variable power costs were 33% above budget (£10k). Again this was due to the disruption and additional production requirement. However the variance percentage is higher than material and labour and needs investigating. The consultants’ recommendation of standard costing possibly indicates that the data available for budget setting was inaccurate.

Equipment hire was 25% above budget (£15k). This will also have been affected by the disruption and additional production requirement. The scale of the variance suggests that the equipment hire rates may have increased for machines required at short notice.

(b) Standard costing

Standard costing and budgetary control are powerful management tools that can be used separately but naturally combine into a seamless system of planning and control. They share the approach of setting targets, measuring actual performance, analysing variances and initiating management action to correct or improve future performance and set new targets.
Standard costs provide the ‘per unit’ data that is required to construct the variable elements of the production cost budget. This data just needs to be multiplied up by the production budget volumes.

The variance analysis that is performed in standard costing provides an explanation of the variances arising in budgetary control.

This is particularly effective for companies with a number of products.
